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SECTION - | L S
MATHEMATICS RG]
L | secx:Ethen, —me—isequalto % ‘Iﬁc*secng E\T.?ﬁ —t—@x—aﬂm
4 1+ tan2 x 4 1+ tanZ x
(A) 1/25 (8) 9/25 8
(c) 3/4 (D) 12/25 (A) 1/25 (8) g/25
© 374 (D) 12/25
2 f A=""and B="""thenA+Bis » AR A= dRp='AHA+BE
x-1 x+1 x-1 x+1
(A) None of these ~ (B) 2(x? + 1) (A) @S & ®)2(x2+1)
(x—1)2 (x —1)?
© 2(x2-1) © x24+1 ©2(x2-1) Dx2 +1
2241 xt—1 x?+1 x?-1
3. Value of 1 Radian is 3 4 ¥feTT BT oA ® -
(A) 47°15'17" (8) 60°30'15~ (A)  47°15'17° (B  60°3015"
(€ 180° (0) 57°17'45" © 180° (D)  57°17'45"
4. If15% of m=20% of nthenm : nis o e m BT 15% = n BT 20% 8, @ mn
(A) 16 : 17 (8) 17: 16 =
(©3:4 (©)4:3 % ®7:.%
© 3:4 O)q = 3
5 The median of the following distribution is 5 fo= arferer @ wiftger &1 a9 2
I8 I5160301917]4 x| 8|5(6|10]9|7|4
fl6/4|5|8|9|4!|6 fle|4|5({8|9|4 | 6
(A) 8 () 9 (A) g (8) g
(© 10 (D} None of these © 10 - (D) JE 7
6. The total amount for a sum of ¥ 400 for 3|6. ¥ 400 &1 3 a4 % foro 5% wrgRYY
years at simple interest at 5% per annum will qiffes & @t v 9 P g9 fhaar
be B8R ?
(A) T 415 (8) T412 (A) T 415 (B) T 412
(©) T 460 (D) X 435 © ¥ 460 (D) ¥ 435

-
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1
If tan A= —and tan B = /3 then cos A«

NE]
cos B -sin A « sin B will be equal to
(a) 0 (8) 1
2
(D) @/2

(1

8. Distance between two lines
3x+4y—9=0and 3x+4y+10=0
is
(A) None of these

(C) 10 units

(B) 9/5 unit
(D) 19/5 unit

9. Find the value of
V3 cos 23° —sin 23°

2
(A} tan 53° (B) sin 53°
©1 (D) cos 53°
10. 2 3 is

(A) A natural number (B) An integer
() A rational number

(D) An irrational number

‘ﬂﬁtanA=—%3ﬂ?tanB=\/§a‘r

v

cos A. cos B-sin A . sin B@®r

A BT -

(A) o (8) 1
2
€ 1 (D) @/2
8 T Y@alt 3x +4y—9=0 3R
3x+4y+10=0 & da A gQ
(A) ®E TE (B) 9/5 FHIS
(© 10 gBIg (D) 19/5 gbTE
9 /3 cos23° -sin 23°
2
P AN &
(A)tan 53¢ (B)sin 53°
€ 1 (D)ecos 53°
10. :’vfg g- 5

W TE wipd Hen B) v guie =
© v aRea e
(D) g IuReg e

" JfcosA= %andcos B= ii,thencos(A—B) " af& cos A = % 3R cos B = g @ cos
is (A-B)?2
(A) 1 (8) 13 (A) 4 (8) 13
98 98
(€ E (o) 18 © 1 ) 18
2 49 2 29
Page: 3 477661
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13.

14,

16.

- By selling a car for ¥ 72,000, a person made a
profit of 20%. Then the cost price of the car is
{A) ¥ 90,000 (8) ¥ 60,000

(©) ¥ 80,000 (D) ¥ 70,000

ifa:b=3:4andb:c=8:9,thena:cis

(A)1:3 () 3:2

fc)1:2 D) 2:3

If X is the mean of n observations
n

Xy, X3, X3, ..., Xn, then ¥(x—X) is equal
i=1

to

A1 80

{€) None of these (D) =

Distance between two points
(acos @ asina) and (acos B,asin ) is

o+ (B) +
2a sin( B) 2acos (a B)
2
(€) o - (D) o-
Zasin( > B) 2a cos( > B)

LCM.of x® —9xand x? —2x—3is
A) x-3 B x + 3

equal to
(A)

0 x{x+ 1)
© x(x+3)(x-3)(x + 1)

UH Afdd Uh SR B 7 72,000 § g%

20% T FHAC 8, A SR B B9 oA
H
(A) ¥ 90,000

(€ ¥ 80,000
A a:b=3:43"b:c=8:09

(8) ¥ 60,000
(d) ¥ 70,000

dra:c?

Wi:5 Bl as2

© 1:2 P23

A" n WSSy, x, x,  x, W
n

T FE A Pz AR
i-1

© P T ——

& R (acosaasina AR

(acos B,a sin B) & dta e -

AN sa+ B (8) a+ B
Zasm( > ) Zacos( 5 )

(c) a-f (D) a- B
Z2a sin( ) Z2a cos( )
2 2

¥-9x 3R x2_2;, _3H LCM. &
A x-3 ® x4+ 3
By x(x+1)

©  x(x+3)E-3)NE+1)

LT
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B g P

L 3

18,

18.

What must be added in —95 + 4y? to make
X

it a whole square ?

(A) 6x 8 6y
v *
(© 12x () 12y
y x

The value of tan G + 9) . tan (%" X B) is
(A) 1

-1

(8) 2
(D) 0

Ifa+b+c=11and ab + bc + ca = 20, then
thevalueof 3% + b® 4+ c¢3®-3abc

18.

avE 2 4y § T N gl

g4 WY ?

(A 6x (8) 6y
vy x

() 12x () 12y
= x

tan (3+9) . tan i’i+e) H A

4 4
(B) 2
(D) o

(A) 1
(4

G a+b+c=M13AT ab + bc + ca
= 20 B, @ 24 pP4 c*-3abc B

(A) 671 (B) 341 HH -
© 121 (D) 781 (A) 671 8) 341
© 121 (D) 781
20. Two supplementary angles measures |20. gfa @) oL R
5x + 15°and 4x - 6°, angle are 51 + 15°#r4x - 6° B, A BN &1 99 &
(A) 120° 60° (8) 95°,85° (A) 120°,60° (8) 95°.85°
(© 100°80° @) 110° 70° (€ 100°80° (o)  110°,70°
21 If one root of equation 2x? — 10x + P = 0|2 IfT TRHT 242 _ 10y 1P =0 @ B
is 3, then the value of P is qA 3 B, AT P &1 AN ¥ -
(A) P=6 |BlP=—3 (A) P=6 (B) P=-3
(O P=9 (D) P=12
© p=g 0 p =12
2 If 2x+y=35and 3x+ 4y=65thenthe| 2 gfr 5, 4 35 AR 3,4 4y=65 o =
y
x
value of ;IS BT AT
(A) 2 (8) 3 W 2 ol
i o 4 © 5 (© 4
Page: 5 477661




23.

24,

25.

26.

27,

28,

If x +y=7and3x— 2y = 11, then

0 x=5,y=5 O x=5y=2

The sum of roots of the equation
x2—3x—28=0is
(A) -28

(€ -3

(B) 4
(D) 3

The arithmetic mean of given data will be
67, 65,71, 57, 45
(A) 71

(© 61

(B) 72
(D) 62

The median of 15t ten prime numbers is

(A) 12 (8) 13
(€} 11 (D) None of these

The length of a rectangle is 8 cm more than
its breadth. If the perimeter of the rectangle
is 68 cm, then its length and breadth is
(A) 21 cm, 13 cm (B) 20cm, 10 cm

(©) 30cm, 20cm (D) 25 cm, 15 cm

A 100 m long train is moving at a speed of 60
km/h. Then the train will cross a signal pole in
(A) 10 seconds (B) 4 seconds

23.

24,

25.

26.

27.

28.

A x+y=7 AR 3x—2y—11 A
(Alx=2,y=5

®x =0,y =3
Ox =5y=5

Py —5y=2

AP x2 3y _28=0 F Hell @I

qnT &
(A) -28 (B) 4
() =4 (D) 3

IBST 67, 65, 71, 57, 45 B THTR
e BAMT -

(A) 71
€ 61

(B) 72
(D) g2

IH T 9IS HeEst 91 miftae € -
(A) 12 (8) 13

© 1 o) Hg &

U$ I & g SHd des o 8
cm 3¥F & | I s &1 uREg 68
cm B, a1 IS oETs 9 A #

(A 21 cm, 3 cm (8 20 ¢m, 10 cm
(© 30 cm, 20 cm ® 25 em, 15 cm
TUH 100 At T &l Yol 60 km/h @

g A 9 (S Riaa 9id &) oy
9T § UR &Y ot 2

(€) 6 seconds (D) 3 seconds (A 10 AHve (B) 4 HqHvs
© 6 dFvs D) 3 Jpve
28. cos 75° + sin 75°is equal to 29. €08 75° + sin75° BT HA %‘
A 3 & 1 A 3 (8) 1
2 2 s 2
@ Ve © 1 © V& (o) 1
- E3
Page: 6 477661
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30. In the given figure of circle with centre O,
chord AB makes an angle of 8(° with the

centre. Then £ APB is

A 40° ® 100°

@ 140° () gge

31. In the Adjoining figure, DE || BC, then value

of xare

w Ry W fE A g9 B Fw
AB.Wngoﬂmﬁfﬁﬁ

LAPB &

(A) 40° (8)
(C) 140° (D)

3.

3x—1
(A)
() 4 1 (D) t
ooy 2 T R 2
() 1 (D)
-1, —= 1,—— T
2 2
%2 If loggm + logg i—: g then m is equalto |3 A& logem + logg %: § dl ' m @ "
(A) 4 (B) 24 g
(© 12 (D) 18 (R) 4 (B) 24
© 12 (o) 18
Page: 7 477661




3. The value of  cosec? 67°— tan?23°is |3 gsec? 67° — tan223° T 41 2
equal to (A _q {8) 4
(A) -1 (8) 1
c) D) x
© 0 (d) = i e
34 The number of 6 m cubes canbe cut froma|34 36 m x 5 m x 8 m 'g?ﬂaﬁ drel g9
cuboid measuring36 mx15mx8mi is A6 maR & oy 99 B¢ ST 95
(A) 25 (8) 10 &9
(© 15 (D) 20 (A) 25 (8) 10
€ 15 (D) 20
/ : xfy
= If x¥= y*then (f)x 3"is 5 afE 2T (= g ar (f) N AE B -
y y
200y B % 1)
(A) (x/y) (8) x("_l) (R /v (B) x(}' 1)
) 5 c = D il
(€) x(y+ 1) (D) x(y 2) (© x(;+ 1) (D) x(), 2)
' e = R sme=L ®| A
if sin® 7 then the wvalue of sin B 5 A
3sin? 80— 45sin®*0 -cosBis 3sin20—4sin0 -cos@ BT A T -
A 1 (8) 1 (A) 1 |
2 2 2 2
© 1 © 3 () 1 L R
V2 2 V2 2
37. 1f9:15::45: x, then the value of x is 7. 9f 9 : 15 1 : 45 : y B, A y BT HA
(A) 75 (8) 3 2
() 27 (D) 9 (A) 75 (8) 3
€ 27 (D) o
38. Three solid sphere, whose radii are 3 cm, 4|3 9 3/ Ml ¥ B9 3 cm, 4 cm
cm and 5 cm melted into a single sphere, its IR 5 cm & 9@ Rudexr & oM
radius is Ml I3 ST € O Suat Broar & -
(A) None of these ~ (B) 9cm (A) B T8 ) 9 cm
{€) 6cm (D) 8cm © 6 cm (@) 8 cm
Page: 8 477661




38. If the line PQ is parallel to line BC of A ABC,

40.

41,

42,

43.

then
A
P / > \ Q
B g C
(A) AP_A_Q (B) AB_AC
PB QC AP AQ
(c) E_E_C_l (o) BC AB
AQ BC PQ AC

If a , B are the roots of the equation
2x2—~3x+1=0. Then the value of

a4+ piis
(A) 9/8 (8) 9
(c) 8/9 (D) 8

Sum of two numbers is 21 and their
difference is 11 then the greatest number is
(A) 5 {(B) 10

@9 (D) 16

If 7x:63=1:9,then xis
(A) 1 (8) 2
€ -1 (D) 3

Find the average of first fifty natural numbers

3. ¥l PQ, AABC ¥ ¥ BC & W< e,

40.

41.

42.

43.

@
A
P / 5 \ Q
B < C
W AP_AQ @ AB_AC
PB QC AP AQ
@ AP _PQ () BC AB
AQ BC PQ AC

A o, pUHNBRUT 252 _3541=0 &
ol B, A o2y g2 B AT -

(A) 9/8 () 9
© 8/9 (D) g

I |1 st & A 21 AR AR M
B, o 9 9= §

(A) 5 (B) 10
©) g (D) 16
AR 7x:63=1:9 7 x &
(A) 1 (8) 2
() - (D) 3

SUH qET WIPid Sesl &1 iR §nd

(A) 21.55 (B) 25 -l

{€) 12.25 (D) 25.5 (A) 2155 (B) 25
€ 12.25 (D) 255
Page: 9
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44 |f \/27 = 16, then the value of n is 4. iy J2' = 16, Wn o AFAE
(A) 3 (B) 8 (n 3 (B) g
) 4 (D) 2 ) 4 (D) 2
45. The value of 45, a + b + %
= % N ¥ ¢ (a-b)(a—c) (b-c)b-a) (c—a)(c-b)
(a-b)la-c) (b—c)b-a) (c-a)(c-b) A
is (A) 2 (8 o
(A) 2 (80 © 3 (D) 4
03 (o)1
4. If points (1,2),(x,-1),(4,5) are collinear, | 4. afy fa=g (1,2),(x,-1),(4,5) INE 7,

then the value of x is A BTAAE
(A) -3 (8) -2 (A _3 B
€} 1 (D) 2

(€ 1 d) 2

47, 47.

The value of cos 15° — sin 15° is equal to

W 1 8) /3 (A)
V2 2
© 1 © 1 (©
3 2
48. Number of parallel tangents of a circle is 48.
(A) 4 (8) = 2
(A) 4
©1 (D) 2
< 1

49, 49.

1 :
Ifcos B = & then the value of tan 26 is

cos 15° — sin 15° @1 A9 & -

1 ® 3
V2 55
1 (D) 1
3 2

Th gd B TR IR B e

(B) =

(D) 2

‘Tﬁcos{B:%.?ﬂtan 20F W &

8., il ® _ 3 . 1 L I
V3 V3
© 3 o 1 @, 3 o 1 ]
V3 V3
Page: 10 477661
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50. sin (-0)is equal to

5. sin (-9) BT AE ® -

(A) cos @ (8) —cos@ (A cosB B —cosH
© sinB (®) —sin® (© sinB P  —sinB
Page: 11 477661
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51.

52,

53.

SECTION - 11
PHYSICS, CHEMISTRY & AGRICULTURE

Potassium chloride contains K-(Approximate)
(A) 60% (B) 80%

() 70% (D) 50%

Which of the following compounds can be
used as anti-freeze in car radiators ?
(A) Ethyl alcohol (B) Methyl alcohol

(C) Ethylene glycol (D) Glycerine

Which of the following atoms would be
paramagnetic ?

51.

52.

53,

q - I
Hifas s, g s o i

UeRH FeiRigs H dRRrE @ e

qET & (SITHT)
(A) 60% (B) 80%
Q) 70% (D) 50%

R P AR § wod-fbs & wy H
B T Affe wge fBar o uear g 2
(A) ToTgel Tobleet

(8) fyerrgel Teblgd

(© FAIAT TATgDI

©) o=

e § 9 B9 W WA TR
BIT?

(A) Be (8) N (A Be B N
(0 Ca (D) Zn © Ca ® 7n
s+ Which physical quantity is constant for a|s. FH& § gid g SUUE & ford dF o
satellite in orbit ? ANAF 73T ReR w&dt & 2
(A) Angular velocity (A) ST 977 (B) Hrofig oy
(B) Angular acceleration (© profir wdaT (D) Tfyst St
{€) Angular momentum
(D) Kinetic energy
55. “Pusha RH-10" is a hybrid variety of 5. “UHT R.T.-10" T vl fre 2
(A) Bajra (millets) (B) Basmati Rice (A) gToRT (B) gTH< d1dd
(©) Wheat (D) Sugarcane () 'ﬁﬁ (D) =T
Page: 12 477661
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56.

5.

In the following figure the equivalent
resistance between ‘A’ and ‘B’ will be

30
30
A B
A 120 B 5Q
© 225Q P 120

Which gas is used in Electric Bulb ?
(A) Carbon dioxide (B) Oxygen

() Helium (D) Argon

IUPAC name of
HBC—(li:CH—CHz—CH3

)

(A) 2-chloro pentene-2
(B) 4-chloro pentene-3
(€} 2-chloro pentene-3
(D) 4-chloro pentene-4

The value of one Faraday charge is
{A) 96500 Coulomb  (B) 10° Coulomb

(© 3.7 x 10° Coulomb
(D) 6.23 x 10?3 Coulomb

A particle of charge ‘q’, mass ‘m’ and velocity
V', enters perpendicular to a magnetic field

‘B, force on particle will be

56.

67.

58.

59,

R # A R B & flg geuiet gk

3Q
30
A B
(A) 12Q (B) 5Q
(@ 225Q (D) 1.2Q

3Afde® ded H Wgad & WM et A9
?

(A) HdT STgsitRTTsS

(8) IR

(© diferas (D) 3ty

HgC—(IZ=CH—CH2—-CH3
Cl

a1 gy g A g -
(A 2-FARY UEH-2 (B) 4-FIRT U<19-3
(© 2-3RI U<H-3 (D) 4-FIRT U<1-4

g e faga endwr &1 A ¥
(A) 96500 Poitd  (B) 6 HelTH

(© 3.7 x 10° guim

P 623 x 1023 g

TS & s Jhw q, TSI my
T Ay B, O 89 B & i Ead
qAd & | T W M 9 &

1
1
H

(A qVB ® q*VB () qVB B  o2VB
- m
© qmvB ® gVB © gqmVB ® gVB
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61. When 104 electrons are removed from a

neutral metal sphere, the charge on the
sphere becomes

(A) +32uC (B) =32 uC

(© —16pC () +16 uC

62. The correct order of Radii is

(Al N<Be<B
B F- <0 2<N3
() Na<Li<K

(D) Fe*? < Fe*? < Fe**

61.

62,

e TS M W g1 FelwE P
ford sra € o et R 3mAY B

(A) +32 uC (8 —32uC
© —16uC (D) +16 uC
o &1 98 B9 ®

(A N<Be<B

B F <02<N3

(€) Na<Li<K

(D)  Fe'3 < Fe*t2 < Fet4

63. In a 10 cm long horizontal wire, 5 Amp 6. T&h 10 TN o &R aR & 5 URRR
current is flowing. The mass of wire is g1 ydifad 8t & | IR @1 el
3 X 107° kg/metre. What will be the field| 3 02 fEmAt w0 g7 39 arR &t
to keep wire stable ? Rer wﬁ‘ a; ﬁ,rq m BT A m
(A) 588 x 107° Tesla downward W 5gg x 10-°5 AT AT P AR
) 0.6 x 10~° Tesla upward B 06 x 10-2 ST FR 3R
(©) i
588 x 107 Tesla upward © ggg x 10-3 SFA TR A AR
(©) 588 x 1072 Tesla downward
(D) 588 x 1073 AT A B 3R
84. Phenol with dilute HNO, gives 8. ] HNO3$ ey fEfa affsar w)
(A) Meta and para nitrophenol I HIT B
(8) Ortho and para nitrophenol (A) Fer 3R URT ATSefheid
(€) Ortho and meta nitrophenol (®) ‘greff IR URT ATl
(D) Tri nitrophenol © ‘3reff iR Fer gcifhard
() g3 ASIherel
65. The metal that cannot displace hydrogen 6. qg o1y W f% O9 TESING 3k A
from dilute hydrochloric acid g @ favenfa F8f &) aedl &
(A) Copper (B) Zinc (A driqr ) i
(©) Aluminium (D) Iron (© vegfAfas (D) ArET
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66.

67.

69.

A force is applied on a 6 Bm mass (at rest) for
20 seconds. After it no force is exerted on it
and after travelling distance of 50 cm in 5
seconds, mass stops.

The amount of force in Newton will be

(A 5 X 1075 Newton
(B 5 x 1073 Newton
© 0.2 x 1073 Newton
®) 0.2 x 102 Newton

Work done during the expansion of a gas
from a volume of 4dm3to 6dm?3 against

a constant external pressure of 3 atm is (1L
atm =101.32 J)

(A) -608 J (8) -304 )

(©) +304 ) (D) -6

PH value of 0.0001 M HC/ solution is
(a) 5 (B) 6

€4 (D) 3

Little leaf disease of mango and brinjal is
caused due to the deficiency of
(A) Iron (Fe) (B) Calcium (Ca)

(€ Zinc (zn) (D) Sulphur (S)

Length of a rod increases 0.2% on increasing
the temperature by 100 °C. The value of

coefficient of linear expansion of material of
rod

(A) 2 x 105 per °C (B) None

(© 2x107* per°c ©) 3x10-5 per °C

69.

70.

ﬁrd?ﬁ%lmnmmam(uatm
= 101.32 J)
(A) -608 ]

(© +304 ]

(8] -304 ]
0) -6 3

0.0001 M Hc; e &1 pH @ &

(A) 5 (8) 6

€ 4 (D) 3

U AR AT F B wft frat
SN ¥ BT & 2

(A) IR (Fe) (8) &foerm (Ca)

© iz (zn) (D) Ere (S)

100 °C 19 99 W B B =TS 0.29%
9% ST ® | B9 & yerd b1 W@ gaR
ToNe & -

A) 2 %1075 soC

®) T q P 75

© 2x107*R°C ®© 3x 1054 °C

LT
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7.

T2,

73.

74.

75.

A cycle tyre bursts suddenly. This represents
an

(A) Isobaric process  (B) Adiabatic process

(€) Isothermal process

(D) Isochoric process

How many electrons an atom have in M shell
whose atomic number is 19 ?
(A) 6 (8) 1

()8 (D) 7

Soils of Western Rajasthan have a high
content of

(A) Aluminium (B) Nitrogen

(C) Calcium (D) Phosphorus

A man can see upto 5 metre clearly. To see
clear upto 10 m, the focal length of lens will
be

(A) +20 metre (B) -5 metre

(€) +10 metre (D) -10 metre

Two springs with spring constants
K, = 1500 N/mand K, = 3000N/mare

stretched by the same force. The ratio of
potential energy stored in spring will be

71'W§WWWWW%I?}3
gfkar &rft
(A) waerdt ufear

(© wmardt wfean
(D) wHea-T wfshar

(8) Fg wfehar

7 e WA REET W HHE 19§, B
M B H gelas &
" 6 (8) 1
© g o) 7

7. gRed woraE @ fiedt § afew A

¥ gr o ®
W gegffEE (8) TggroT
(D) HIREPIRH

(© dHfesraH

% B W 5 AR A gl TP WE @
BT & | 10 Hex 9% We @ & ford
FATEF o P BIHA A e
(A) +20 #HeX (B) _gafreT

(© +10 #Hiex (0) ~10 T
@y fam fee & FEae
K, = 1500 =e=/% T K, = 3000 =/

%,ﬁwaa%tﬁmw%lﬁﬁﬁ
¥ vifrg Reftr ot &1 U BN

(A)4:1 B)1:4 (A) 4 : 1 B 1: 4
(c1:2 >2:1 € 1:2 o 2 :1
76. Which of the following is an insulator ? 7% fp ¥ A AIAS DA T ?
{A) Graphite (B) Aluminium () Amrge (B) Qﬂﬁﬁ'&'ﬁ
(€) Diamond (D) Silicon © BRI (D) RyfereE
Page: 16
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78.

81,

The volume of a gas at 1140 mm of Hg
pressure and 546 °C temperature is 150 litre.

The volume of gas at S.T.P. will be
(A) 150 litres (B) 75 litres

() 750 litres (D) 100 litres

The metal which is found in the native state
(A) Al (B) Na

(©) Ca (D) Au

Accepting the definition that an acid is a
proton donor, the acid in the following
reaction

NH3 + Hzo = NHI + OH_ is

(A) OH™ (8) NHI
(© H,0 (0) NH,

3 238
The number of neutrons in 92[_j are
(A) 146 (B) 92
(€) 330 (D) 238

If velocity of light in airis 3 x 108 m/sand
that in water is 2 x 10® m/s then what

would be the critical angle ?

(L _1(3) ® _1(2)
Sin = sin pirg
2 3

78.

79,

81,

- 140 Pt UR & Q9 qAT 546 cc AT W

T T IR—GT 150 oflex & | 999 @y
0 19 R N BT e R
(A) 150 offex (8) 75 offex

(© 750 oftex (®) 100 ofiex

(A) Al 8) Na
(€) Ca (D) Au
Il 98 BIAT ® S & W e ew
Uhal & | 3 IRYNT & IER W A
AT & T BN
NH; + H,0 = NHI +0OH
(A OH™ (8  NH;
© H,0 (®)  NH,
238 N LALN :
ST e L
(A) 148 (B) g2
(© 330 (D) 238

A g BT AT A F 3w 10 my0
mﬁﬁleoﬂ‘ﬂﬂ?{ﬁ.Fﬁﬁlﬁﬂﬁ
DI BT T RN

Yo " ()
sin" " { = s
2 3

() 3 (D) 2
-1{2 1= (C) 3 (D) 2
=0 "= | wnl " we@
82. Number of moles in 180 gram of water is 82 Ul & 180 WH § HieT ) e &
(A) 18 (B) 10 (A) 18 (8) 10
(©) 100 (D) 1 (© 100 (D) 1
Page: 17 477661

T



83.

An aqueous solution of Ferric chloride is
{(A) Neutral (8) Alkaline
(€) None (D) Acidic

The order of radius of the nucleus of an atom
is

(A 1075 m 8) 107 m

© 1072 m @ 107°m

e FARES 1 Seig Rerga 2
(A) IeriE (8) g

© % T8 ) 3l

TF TR & Ae @ B @ @i

el ®

™ 107 m ® 107 m

© 102 m s §07% m

85. Which one of the following is the standard | 8. fae ¥ A P A TP UATY G )

for atomic mass ? o w9 & 2

A 12 B 16

(A) .C s 20 (A) ‘;C (8) 120

C D 14

© H R o © M 0  c
86. Gobar gas contains mainly 8. Mgy 4 A & B 2

(A C,H, (8) C,Hyp (A) C,H, (B) C4Hyp

(© CH, (0) C;Hg (@ CH, (D) C3;Hg
87. Balance the equation o7. ot @Y Tﬁﬁﬁ oA

9 4 12 9 4 12

4

4Be+ 2He—> 6C ....... 4Be + 2He — 6C - s

(A) a-particles (8) B-particles (A T (8) B-HI

(€) Positron (D) Neutron (© dfref (0) =gf
ss. Which of the following is not a nitrogenous |88 Y/ # & B ATggFIdRT @S T 87

fertilizer ? (A) '*'{F\'?IT

(A) Urea

(8) s TH aehe

> i

{8) Ammonium Sulphate © TR wrepe

C

(€) Super Phosphate ) AP a

(D) Ammonium Nitrate

Page: 18
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89.

90.

1.

3.

The material of permanent magnet has
(A) Low retentivity, high coercivity

(8) High retentivity, low coercivity
{€) Low retentivity, low coercivity

(D) High retentivity, high coercivity

Electrical conductivity of a semiconductor
(A) Decrease with the rise in its temperature

(B) First increases and then decreases with
the rise in its temperature.

() Increase with the rise in its temperature.

(D)Does not
temperature.

change with the rise in

Water falls from 100 metre height. What will
be temperature rise per kg of water due to
fall? (g2 = 10 m/sec?, specific heat of

water =4200 Joule/kg °C)
(A) 2238°C (8) 1.238°C

(© 0.0238°C (D) 0.238°C
Zener diode is used as an
(A} Amplifier (B) Voltage Regulator

(€) Oscillator (D) Rectifier

A sphere of 150 kg is kept on frictionless
surface. A bullet of 0.15 kg mass with velocity
200 m/sec strikes the sphere and stops. After
collision the velocity of sphere will be

(A) 0.2 m/sec (B) 20 m/sec

(€) 2.0 m/sec (D) 0.3 m/sec

89.

91.

92

83.

W e &1 yerd g &
(A =1 grRemshierar, S=a fAfRar

B8) I=g grorEterar, e FAarfar
© = grophean, =1 fenfRar
0) Iz gRuEhearn, 9= fAafEar
it arf-arard @ e arerear
W 99 gfg & wg wed 7 |

BT gfE & WA v g & fw
Hedl € |

© am gfg & W it 2 |
(©) a7 gf& & g wRaffa T 2 &

100 Hiex FI FaE ¥ T AR @ T |
R R iR ® 9@ wfa feeanm amg
d foott gy @it ? (g = 10 m/sec?.

Vel Bt faRe S - 4200 Sge/fear oc )
(A 2238°C (8)  1.238°C

(© 0.0238 °C (b)  0.238°C

SR ST P SUANT & -
(A TrefiprR & w9 F

B fug s & w9 d
© s & HI Y

) et & w9 &

150 f&IT &1 T e ador R 90 W
@ g | TP 0.15 fhw @ el 200 HRY
@ AT ¥ M A cHIBY AN §
3 Sl | TFHR F 9% WMo B AT
BT

(A) 0.2 HY

© 2.0 FHiRy

(8) 20 #iRY
() 0.3 H
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97.

Ammonia is commercially prepared by o i @ORe WX W feud BN
(A) Ostwald process (B) Haber’s process gt oIt & 2
{C) Contact process (A Jreares fafyr @) geaw fafy
(D) Lead Chamber process © wrege fafr (0) s v faf
The percentage of Calcium in CaCO; is %. CaCo, ¥ fergm @ uRrerar &
(A) 52% (B) 48% (A) 529 (B) 48%
() 20% (D) 40% ) 20% (D) 40%
Modulus of rigidity of a liquid is % fpeht ga & ford gear s ©
(A) Zero (B) Infinite (W I (B) a9=d
() Negative and finite (D) Positive and finite (0 =pureas R Hdifta

(0) TS AR Wi
Least count of vernier callipers is 0.01 cm.|97. U@ afRR Hellus &I eqaHid 0.01 J
Measuring the length of an object reading of £ | o fadlt asg 9 EICIERR G R f
main scale is 2.7 cm and the fifth division of T Thd B USAP 2.7 T T 9
vernier scale coincide with any division of affar &1 drEar Ried 5= Wd & foreht
main scale. The length of object will be freg & Mg F wa W | 9K B
(A) 2.75 cm (8) 3.75 cm s BRft
(©) 4.75 cm (0) 1.75 cm (A 275 WA ) 3.75 W

© 475 IR ) 175 4
Which contain maximum no. of molecules ? | %. fy= # ¥ ftrpan ] frad € 2
(A) 10 gm Hydrogen (B) 10 gm Oxygen (A) 10 TTH BIEROH
(€) 10 gm Nitrogen 8) 10 T TR
(D) 10 gm Carbon dioxide (© 10 UM SO

©) 10 A BT STFATIRIES
Two equal forces of 300 Newton each acting | 9. 399 g dd % o gHE 9
at an angle of 60°, the resultant will be 5 WER 00 W &, BT GRomE A r
(A) 155.3 Newt {B) 173.2 Newton

T s (W) 1553 e (B 173.2 e

{€) None of these (D) 162.4 Newton g

© g9 | BIg T8l

(0) 162.4 =
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100. A person travels towards North by 4 m and
then turns to West and travels by 3 m. The
distance and displacements from initial point
are
(A) 7mand 1 m (8) 7mand 7m

(O 5S5mand7m (D) 7mand5m

100.7% Ifdg Sa¥ B AR 4

Y 3 #ier of¥gw @ 3R
RS g & =l wh gh
faema gmm
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